A [\ ¥ 4 QUICK START GUIDE
a EAN. AC-3008 Prodium Mounting Kit for Novara® CP-3008 ControlPad

by HARMAN

Overview Note: If you need to label the buttons on the ControlPad or replace any key

The AC-3008 Podium Mounting Kit for Novara CP-3008 ControlPad (FIG. 1) caps, it is best to do so before attaching the faceplate. Consult the
. . . Installation Guide included with your ControlPad for instructions.
provides a simple and elegant means for mounting a Novara CP-3008 8-Button

ControlPad flush onto the top edge of a podium. Each kit is available with a Put the faceplate over the c.ircuit board, and slip the Im.:king tab into the lock
mounting bracket and faceplate, and comes in three finishes (white, black & slot on the top or bottom rim of the faceplate, depending on whether you
aluminum). The kit is easy to install and mounts the ControlPad securely and installed the mounting bracket facing up or down.

seamlessly onto the podium. Note: If necessary, use a small screwdriver to slightly bend the locking tab so
it connects and locks more easily into the faceplate.

5.  Use the supplied #6 screws supplied with the ControlPad to secure the
faceplate to the circuit board.

There are two screw holes on the top of the faceplate rim, and two on the
bottom. Use either the Torx screws or #4 Phillips-head screws to attach the
faceplate.

Use a Torx driver with a T8 tip for the Torx screws; use a Phillips-head
screwdriver for the Phillips-head screws.

6. Reattach the knob to the faceplate by sliding it onto the knob shaft as far as
it can go. You should be able to press the knob as a button for extra
functionality.

7. Tighten the knob in place using a .050" hex driver in the hole in the side of
the knob.

FIG. 2 displays how the Podium Mounting Bracket is installed with a CP-3008

ControlPad

locking tab

FIG. 1 AC-3008 PODIUM MOUNT BRACKET

Product Specifications
AC-3008 PO MOUNT BRACKET SPECIFIC

Material: Metal with black matte finish
lock slot
Dimensions (LWH): 1/4"x6"x411/16" (0.64 cm x 15.2cmx 11.9 cm)
Weight: 0.600z. (17 @)
Certifications: RoOHS, UL

Included Accessories (1) AC-CP-BRK, Podium Mount Bracket

(kits only): (2) screw, #4-40 x .250, PFH, 82DG, SS

(2) screw, #4-40 x .250, Torx Flat head, Black Zinc

(1) Faceplate, 8-Button ControlPad, Novara, Podium Mount, CP-
3008*

*Note: this faceplate must be used in conjunction with a CP-3008
8-Button ControlPad, ordered separately

Installation

Note: The Podium Mount Bracket should be installed into a wood or metal surface
at least 3/8” (0.95 cm) thick.

The Podium Mount Bracket mounts onto standard 2 gang US, UK, or EU back
boxes. Install the back box as normal according to instructions for your
ControlPad. See the NOVARA 3000 Series ControlPads Operation/Reference Guide
for information on mounting specifications for your ControlPad. A

The following steps describe how to install the AC-3008 Podium Mount Bracket:
FIG. 2 INSTALLING THE AC-3008
1. Place the Podium Mount Bracket flat on the mounting surface. If you are installing

the ControlPad using a 2 gang back box, line up the notches on the mounting
bracket with the screw holes on the back box.
Note: You can place the locking tab facing up or down since the faceplate can
connect to the mounting bracket from both its top and bottom.

2.  Place the circuit board onto the mounting bracket, ensuring that it fits
perfectly over the bracket and the bracket is sitting flush with the edges of
the circuit board.

3. Attach the circuit board to the mounting bracket by using the screws
provided with the ControlPad through the screw holes in the circuit board
and the notches on the bracket and into the screw holes in the back box,
securing the circuit board and mounting bracket onto the podium.

© 2015 Harman. All rights reserved. Novara, AMX, AV FOR AN IT WORLD, HARMAN, and their respective logos are registered trademarks of 93-1302-05 REV: B
= HARMAN. Oracle, Java and any other company or brand name referenced may be trademarks/registered trademarks of their respective companies.

AMX does not assume responsibility for errors or omissions. AMX also reserves the right to alter specifications without prior notice at any time.

H A R M A N The AMX Warranty and Return Policy and related documents can be viewed/downloaded at www.amx.com. |H |‘l|I‘mll”l“”llul‘Iml”lI
= /

3000 RESEARCH DRIVE, RICHARDSON, TX 75082 AMX.com | 800.222.0193 | 469.624.8000 | +1.469.624.7400 | fax 469.624.7153
AMX (UK) LTD, AMX by HARMAN - Unit C, Auster Road, Clifton Moor, York, YO30 4GD United Kingdom * +44 1904-343-100 * www.amx.com/eu,

Last Revised: 11/03/2015

AV FOR AN IT WORLD


http://www.amx.com/warranty/

	AC-3008 - QUICK START GUIDE
	Overview
	Product Specifications

	Installation


